N EFE - 12 5

RNEX HkgEMTELE L £ 5.
(1) Ikg 6179 = kg
(2) 89 = kg
(3) 2kg 9399 = Kg
(4) 5749 = kg
(5) kg 8459 = 9
RODEIZmBEMATERLEL LD,
(1) Im 5lcm = m
(2) Tlem = m
(3) 99cm = m
(4) 9m 63cm = m
(5) 40cm = m
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(6) 4kg Tg = Kg
(7) Tkg 8llg = kg
®) 108 = g
(9) 569 = kg
(10) 2kg 410g = g
(6) 4lem = m
(7)  6cm = m
(8) 8m 34cm = m
(@) Tm 47cm = m
(10) I'lm l6cm = m
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RDEIZkgBEATERLIL LD,

(1) |kg 6179 = 1.617 kg (6) 4kg 79 = 4.007 kg
(2) 89 = 0.008 kg (7) Tkg 8l1lg = 7.8l kg
(3) 2kg 9399 = 2.939 kg (8) 108g = 0.108 kg
(4) 5749 = 0.574 kg (D h6g = 0.056 kg
(5) lkg 8459 = |.845 kg (10) 2kg 410g =  2.4] Kg
RODEIZmBEMATERLEL LD,

(1) Im 5lem = .51 m (6) 4lem = 0.41 m
2 Tlem = 0.7 m (7 6cm = 0.06 m
(3 99cm = 0.99 m (8) 8m 34cm = 8.34 m
(4) 9m 63cm = 9.63 m (@ Tm 4Tcm = 7.47 m
B5) 40cm = 0.4 m (10) I'Ilm lécm = [|l.16 m
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